ﬂh Rewriting Expressions Name:

Rewrite each expression in its ssimplest form. Answers
D (/M +11)- (/M +2)
1.
2.
2 (/B-6)-(7/B8+9)
3.
4,
 (Vz-8)-(7z-4) 5
6.
D (7K +17)+ (7K +10)
7.
8.
V(1) (T +8) 9
10.
O (Tow-7y-(Fow+9)
D (VoY -11) - (Vv -8)
O (Y E+14)-(7E-8)
D (R-8)-(7R-5)
O (VP-7)-(Vp-8)
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jh Rewriting Expressions

Name: Answer Key

Rewrite each expression in its ssimplest form.
4 1
D (/M +11)- (/M +2)
4 1
/M+11-/M -2

2 (/B-6)-(7/B8+9)
1/68'6'4/68'9

¥ (Yz-8)-(7z-4)
YZ-8-7Z+4

D (7K +17)+ (7K +10)
K - 17 + oK + 10

V(TN -T)+ (T +8)
TN TSN+ 8

O (Yw-7)-(Fow+9)
TN +T -7 W -9

D (oY -11) - (FeY -8)
JoY +11- 7Y +8

O (Y E+14)-(7E-8)
Y E-14-/E+8

9 25 7

" (VaR-8)- (/R-5)
2 R+8- "7 R+5

10)

16 3
(/oyP-T)-(7P-8)
6 2
A P+7-7,p+8

Answers

. /M+9
3

,  -/¢B-15
3

; /Z-4
3

4 ~/oK-7
16

5 24V +1
5

6 -/sW-2
14

7 - /30Y+19
5

8 15E-6
60

o. = /4R*13
28

0.~ /p4P+15
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